n:= parametarskalednacinaPrave[{x0_, y0_, z0_}, {pl_, p2_, p3_}] :
{pl+t+x09, p2+xt+y0, p3*t+20}

nei= parametarskalednacinaPravelIspis[{x_, Yy , z_}] :=
Print["x = "

s Xy "\ny =", ' "\nz = ", z]

3= implicitnaJednacinaRavniIspis[{x0_, y@_, z0_}, {a_, b_, c_}] :
TraditionalForm[a*X+bxy+CxZ- (a*X@+bxy0+Cx20) = 0]

4= parametarskalednacinaRavni[{x@_, y@_, z0_}, {ux_, uy_, uz_}, {vx_, vy_, vz_}] :=
{X0+ux*t+VvX*s, yo+uyxt+vyxs, z0+uz+xt+vzss}

5= parametarskalednacinaRavniIspis[{x_, y_, z_}] :=

Pr‘int["X = ||, X, u\ny = n’ y, n\nz = ||, z]
nel= tA = {1, 2, 3};

n7= tB = {-1, 2, -1};

ng= tC = {0, @, 1};

nor= AB = tB - tA

oug= {-2, 0, -4}

inor= AC = tC - tA
ourio= {-1, -2, -2}

nt1= jna = parametarskaJednacinaRavni[tA, AB, AC];

nii21= parametarskaJednacinaRavniIspis[jna]
Xx=1-s-2¢t
y =2-2s
z =3-2s-4t

n(13:= ha = Cross [AB, AC]
ourz= {-8, 0, 4}

np14p= implicitnaJednacinaRavnilIspis[tC, na]
Out[14]//TraditionalForm=

—8x+4z-4=0

ns= vp = {1, 5, 1};

6= tP

{2, 11, 2};
ni7= NB = {0, 1, 0};
infiel= ha = Cross[vp, nfB]

oufig= {-1, @, 1}

npt9p= implicitnaJlednacinaRavnilIspis [tP, na]
Out[19]//TraditionalForm=

z—=x=0



o= nha = {1, -1, 0};
n2i= nB = {-2, 0, 1};
in2r= vp = Cross [nf, nal

oupz= {1, 1, 2}

3= Reduce[x-y-1=-0 && z-2x=0, {X,Yy, z}]

out2s= Y == -1+ x&&z = 2x

4= % /. {X > 0}
outpa= Y == -1 8&&z == 0@

nes= tP = {@, -1, 0};
neei= p = parametarskalednacinaPrave[tP, vp];

ne7:= parametarskalednacinaPravelspis([p];

x =t
-1+t
z =2t

neer= tM = {1, @, 12};
neo= vp = {1, 1, 2};
no= tP = {@, -1, 0};

n31:= PM = tM - tP
ouz= {1, 1, 12}

Norm[Cross [PM, vp]]
nE2= d =
Norm[vp]

10

out[32l= ——

V3

nE3= na = {1, -1, -4};
4= FI{X_,Y_,2Z_}] :=x-y-4z

Abs [f[tM]]
in@s= d = —————————
Norm[na]

47

Out[3s]= ———

342

nisel= FI{X_, Y_,Z_}] :=x-2y+5z-1

nE7= N = {1, -2, 5};

In[38]:= {3, 7, 1};

<
©
n



In[39]:=

In[40]:=

Out[40]=

In[41]:=

Out[41]=

In[42]:=

Out[42]=

In[43]:=

In[44]:=

Out[44]=

In[45]:=

In[46]:=

In[47]:=

out[47]=

In[48]:=

Out[48]=

In[49]:=

In[50]:=

In[51]:=

Out[51]=

In[52]:=

Out[52]=

tP = {2, 4, 0};

vp.na
-6
f[tP
ot o FLEP
vp.na
7
6

p = parametarskaJednacinaPrave[tP, vp]

{2+3t,4+71, t}

parametarskaJlednacinaPraveIspis[p]

X = 2+3t
y =4+7t
z =t

tA=p /. {t > pt}

3 25 7
{_2’ 6 _6}
p N a={tA}

vq = {3, -1, -1};
tQ = {9, 2, 1};

vq.na

0

ftQ]
0

na.vg=0paq| ailigea, a kako f[Q] =0, to g bas pripadaa. >qna=q

vr = {3, -1, -1};
tR = {1, 2, 3};

vr.na

0

f[tR]
11

na.vr=0par|| ailirea, akako f[R] nije 0 tj. R¢a, tojer||a. >rna=9

prvi nacin:



ns3= Solve[x-y-1=-0 && X+y-z+5:=20 & x-2y+5z-1==20, {x, Yy, z}]

7 10 2
Out[53]= {{Xefg, y%,?, Z%,;}}
drugi nacin:

nss= B = {1, -1, O};
nsel= hy = {1, 1, -1};
in571= VS = Cross [nf, ny]

ous7= {1, 1, 2}

nse= Reduce[x-y-1==0 & X+y-z2+5=0, {X, ¥y, z}]
ousgl= Y == -1+ Xx&&z =4+ 2X

o= % /. {X > 0}
ousg)= Y = -18&& z ==

neoj= €S = {@, -1, 4};

In61:= VS..Na

oute1]= 9
f[tS]
n62)= § = = ———
VS.ha
7
out[e2l= — —
3

ne3= parametarskalednacinaPrave[tS, vs]

oures= {t, -1+t, 4+2t}

nea= tA =% /. {t > s}
7 10 2

2

Out[64]= {— -,
3 3 3

sna={(-3, -3, -3)

nes}= Solve[x-z+2==0 & -y+32+2=20 && x-2y+5z-1=0, {X,Yy, z}]

outie5]= { }

Dakle, presek je prazan skup tj. s || a.





